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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

4-

5.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseeable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and began to take counseling,

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function,

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) verified

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) -----m--- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) ---------- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) tor 3) by 4) In
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Recall the question with which we began: what is science? Karl Popper, an influential
20th-century philosopher of science, thought that the fundamental feature of a
scientific theory is that it should be falsifiable. To call a theory falsifiable is not to say
that it is false. Rather, it means that the theory makes some definite predictions that are
capable of being tested against experience. If these predictions turn out to be wrong,
then the theory has been falsified, or disproved. So a falsifiable theory is one that we
might discover to be false — it is not compatible with every possible course of
experience. Popper thought that some supposedly scientific theories did not satisty this
condition and thus did not deserve to be called science at all; rather they were merely
pseudo-science.

Freud’s psychoanalytic theory was one of Popper’s favorite examples of pseudo-
science. According to Popper, Freud’s theory could be reconciled with any empirical
findings whatsoever. Whatever a patient’s behavior, Freudians could find an
explanation of it in terms of their theory —they would never admit that their theory was
wrong.
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16-

17-

18-

19-

Imagine a man who pushes a child into a river with the intention of murdering him,
and another man who sacrifices his life in order to save the child. Freudians can
explain both men’s behavior with equal ease: the first was repressed, and the second
had achieved sublimation. Popper argued that through the use of such concepts as
repression, sublimation, and unconscious desires, Freud’s theory could be rendered
compatible with any clinical data whatever; it was thus unfalsifiable.

To call a theory falsifiable means that it should ---------- 7

1) be false

2) always make accurate predictions

3) follow the principles of pseudo-science

4) be capable of being tested against experience

What does the author mean by ““this condition” in paragraph 1?

1) Fundamentality  2) Falsifiability 3) Predictability 4) Compatibility

The word “reconciled” in paragraph 2 is closest in meaning to ---------- .
1) harmonized 2) approached 3) advocated 4) evaluated
Where does the following sentence best fit into the passage?

Popper illustrated his point with the following example.

1) End of paragraph 1 2) End of paragraph 2

3) End of paragraph 3 4) Beginning of paragraph 2

According to Popper, Freud’s psychoanalytic theory could be made compatible with any
clinical data because ---------- .

1) it is basically falsifiable

2) it did not deserve to be called science

3) Freudians would always describe human sacrifice as sublimation

4) Freudians would always find an explanation to justify human behavior

PASSAGE 2:

Many theories that posit unobservable entities are empirically successful — they make
excellent predictions about the behavior of objects in the observable world. The kinetic
theory of gases, is one example, and there are many others. Furthermore, such theories
often have important technological applications. For example, laser technology is
based on a theory about what happens when electrons in an atom go from higher to
lower energy-states. And lasers work — they allow us to correct our vision, attack our
enemies with guided missiles, and do much more besides. The theory that underpins
laser technology is therefore highly empirically successful.

The empirical success of theories that posit unobservable entities is the basis of one
of the strongest arguments for scientific realism, called the “no miracles™ argument.
According to this argument, it would be an extraordinary coincidence if a theory that
talks about electrons and atoms made accurate predictions about the observable world
— unless electrons and atoms actually exist. If there are no atoms and electrons, what
explains the theory’s close fit with the observational data? Similarly, how do we
explain the technological advances our theories have led to, unless by supposing that
the theories in question are true? If atoms and electrons are just “convenient fictions”,
as anti-realists maintain, then why do lasers work? On this view, being an anti-realist
is akin to believing in miracles. Since it is obviously better not to believe in miracles if
a non-miraculous alternative is available, we should be realists not anti-realists.
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21-

22-

23-

25-

26-

27-

What is the passage mainly about?

1) Convenient fictions about atoms

2) The “no miracles” argument

3) The importance of being anti-realists

4) The behavior of objects in the observable world

Which of the following statements is true?

1) Laser technology is not based on an empirically successful theory.

2) The passage offers examples of technological applications of the kinetic theory of gases.

3) The kinetic theory of gases is a theory that assumes unobservable entities are
empirically successful.

4) The kinetic theory of gases is based on a theory about what happens when electrons
in an atom go from higher to lower energy-states.

The word “they” in paragraph 1 refers to ---------- 3

1) lasers 2) electrons

3) energy states 4) technological applications

According to the passage, because it is better not to believe in miracles if a non-
miraculous alternative is available, we should remain ---------- J

1) guided 2) realists 3) unguided 4) anti-realists

The phrase ““akin to” in paragraph 2 is closest in meaning to ---------- ;

1) separate from 2) coupled with 3) present in 4) similar to
PASSAGE 3:

It has become customary to divide the process of scientific discovery into three stages
or contexts. In the context of discovery, objects of investigation are selected in
accordance with considerations of relevance; in the context of justification, data are
gathered to confirm or disconfirm hypotheses; and in the context of application,
hypotheses are applied for various social or political purposes. It is widely agreed that
value judgments operate in the contexts of discovery and application. Judgments about
the respective value of objects of investigation at least partly determine the selection of
these objects, and judgments about the values of social or political purposes play an
important role when it comes to applications of scientific hypotheses. It is also widely
agreed that value judgments necessarily operate in the contexts of discovery and
application: that questions of relevance cannot be decided independently of value
judgments, and that applications of scientific hypotheses presuppose value judgments.
What i1s less widely agreed is whether value judgments necessarily operate in the core
of science, 1.e. the context of justification. Many theorists believe that value judgments
operate in the context of justification as a matter of fact. But what remains contested is
whether value judgments necessarily operate in the context of justification: whether
scientists are incapable of confirming or disconfirming hypotheses independently of
the value judgments that they happen to endorse.

Data are gathered to confirm or disconfirm hypotheses in the context of ---------- ’
1) application 2) discovery 3) investigation 4) justification
The word “respective” in line 7 is similar in meaning to ---------- .

1) relevant 2) principal 3) original 4) crucial
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28- Judgments about the values of social or political purposes become prominent in the case

Of =eemmennn 4
1) applications of scientific hypotheses 2) presupposing value judgments
3) considerations of relevance 4) the core of science

29- According to the passage, what is disputed among theorists is whether value judgments

2) are capable of disconfirming social theories
3) necessarily operate in the context of justification
4) operate independently of other objects of investigation
30- The word “endorse” in the last line is similar in meaning to ---------- .

1) display 2) compile 3) approve 4) achieve
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